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[XreA2]
H XH7IE

1L a4 B} GOON FIlRASO E3 o2 AY (MEF it
2. 7 2 TN 53 B 29| =24, Me 53 58 FUNOR WL MHRLS BEi0| o5 Ha A
- b Q9 20| ke, FE 20| =X HA 3 52 %
- 2H Q0 HIR, HiEAN HY, 72 FM|(E0M], REY 5) B
S:

2ol S

WX{EAIL FolAte
1L ga8 7ot 2 #49 E7t=
c | H

=
2. 8H 2 8582 g

(1)  |AAIe] &4 = (50/400)x100 = 12.5%
= AHIEE A4 1LY
=8JI12 e
(2-1) | [B232EED) 5
NEREEVERSS, 45
SR (F4)) 4
(2-2) B glE o] AMEE 4k 11T olU A Aabeke] 7H #7]
;;f; o] o,
azy | T (3_1) [FEEH2PA2ADP = 2T 2ATPH2HL0 (F&
B a4 CsH 1506+ 2HPO,* +2ADP — 2C;H;05”+2ATP+2H,0)
=59 (THE = Hxo] whgo] [ZYM2LH = 33— —
) 1,3-Hl2ZAE I 2ol ATPY 548 -20|t}) T
o) (THH= Hxe] o] (X — X5 6-Qlit]o|na
ATPo] 542 0°]t})
(4-1) a)o|2AH A =2; b)AEHAA -1 )Rt FH7]-4;, DXL
=x7]-3
(4-2) grdtEe ArlduA BErF da 28Tt o, A2
A7 A D=7F Fa S UETE St
E
T4 | £d9 Fol wely, Aevd B 2 Wb
Tﬂ7]_
[e]

=
- 7H o 29 =2ld, =t 272 =2|H MAL, Me 58 52 TEHoZE THoio H+E

2} 31 2 gHoz o S
AKX

- YW Q9 IR, HlEalE WA, V2 IA|Eo|MT|, REY S) 2 SIS C9jo| A8, 2
et 40 HY S
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